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PROBLEM:
Evaluate the “running” average:

y[n] =
1

L

L−1
∑

k=0

x[n − k]

when the input signal is a geometric sequence. As before, compute the numerical values of y[n] over the
range −5 ≤ n ≤ 10; let L = 4 and a = 0.8. Then derive a general formula for y[n] that will apply for any
value of the parameters L and a, when n ≥ 0.

x[n] =

{

0 for n < 0
an for n ≥ 0

If you cannot visualize the output signal, use MATLAB to create a plot of the output for a = 0.9 and a = 0.8
over the range 0 ≤ n ≤ 20. Take L to be equal to 7.
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